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QUESTION 1

When managing Security Group Access in Cisco ISE 1.2, what is the description of the mapped cells matrix element?
A. the source SGT names and the assigned 16-bit tag

B. the destination SGT names and the assigned 16-bit tag

C. when a source and destination pair of SGTs is not assigned any SGACLSs or a status

D. when a source and destination pair of SGTs is assigned an order of SGACLs and has a specified status

Correct Answer: D

QUESTION 2

Which feature should you recommend if a customer has high-density wireless deployments and they want to monitor
bandwidth consumption and manage network resource utilization?

A. CleanAir
B. Bonjour
C.ACL

D. AVC

Correct Answer: D

QUESTION 3

What is the best way to design a network to ensure that Cisco NSF operates according to specifications?
A. Ensure that all attached neighbors are Cisco NSF-aware.

B. Ensure that the local switch is the NSF master.

C. Ensure that VSS NSF is enabled.

D. Ensure that IOS ISSU is enabled.

Correct Answer: A

QUESTION 4

A network administrator is using the Embedded Event Manager, which is supporting multiple actions initiated from the
script. Which two policy actions can be used within the EEM? (Choose two)

A. Execute a Tcl script.
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B. Send an email.

C. Run another policy.

D. Hot swap the supervisor.

E. Manually send an SNMP trap.

Correct Answer: BC Testlet 1

TESTLET OVERVIEW

Title: Case Study

The following testlet will present a Case Study followed by [count] multiple choice question(s), [count]
create a tree question(s), [count] build list and reorder question(s) and [count] drop and connect question
(s).

You will have [count] minutes to complete the testlet.

For help on how to answer the questions, click the Instuctions button on the question screen.

QUESTION 5

In the Cisco Unified Wireless Network infrastructure, which combination of devices and/or features best accomplishes
high availability?

A. backup controllers and client SSO
B. backup controllers and LAG

C. N+1 and client state replication

D. N+1 and backup controllers

Correct Answer: A
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